FHM6EE MRLUTHER NMERBFEIXE

T A B
R4 mis
|(E (AL FH5)
BEEERA -k &1
¥ (BAEICBDERGEIIHE)
2 H FITE 14 25 3F 45 5% 64
t 109 209 309 409 509 609
(= RE 110 210 310 410
*
106 206 306 406 506 606
[£F] HE
408 508 608
& H3X
%302[ 18 %302[ 18 %302[ 18
i = [18hR] [18hR] [18hR]
t 121 420 520 620
LE EMER 120 (I ) 321 421
*
"""""""""""""""""""""""""""""" 312 412 512 612
HE BEE
t %113[18AR]
&30 EWER 130 %114 1K)
*
104 204 304 404 504 604
[F#] B=
t 107 3%103[ 18R] (307 3%303[ 18R] [507 3%503[ 18 i)
BT AX = 108 3% 104[ 18R] [308 3%304[1HkR] [508 3%504[ 1B i)
1503 %502BAE[185R]
REE HE FEE)
%3043 (18R] 508 %5043 [184R]
Rig KIBEE (F£30)
BAFEE611

(%3] EHEE (FEE)

115 215 315 415 515 615

.
(&) AX 116(/—bk) 216 (/—F) [316(/—F) [416(/—bk) |516(/—F) |616(/—F)

[ IREFEELERLGARITEIIE246EFICOVWTIIIRIREFRIORITEDFHMEFEAT S (R6DA)
RERFM-RE=LES6FD2FMICTIMIEET S (RIFEILSEDH)

ks ww | Frirr W i WRW 7 wiwr | e
_|c-121 |C-122 |C-123 C-121 [c-122(1) [c123(2) [c-124 C-121 lc-122 |[c-123
EiE HH BE

W W | Fevror
C-121 |C-122 |C-123

Bet R AR (BRITHR)
OCEXEMER)-OEYX I ->OWFy/—-OfEE (5 H) Ot R (BH)

FFRL [R6_)EARHFEIEFXE /I



